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Economics 101
Fall 2016
November 22, 2016
Second Midterm

Version 1

DO NOT BEGIN WORKING UNTIL THE INSTRUCTOR TELLS YOU TO DO SO.
READ THESE INSTRUCTIONS FIRST.

You have 75 minutes to complete the exam, including filling in your scantron. The exam consists of 9 binary
choice questions worth 2 points each and 20 multiple choice questions worth 4 points each. Please
accurately and completely provide your name, ID number, discussion section number, version number, and
TA name on the scantron sheet and the exam booklet. Writing all this information correctly is worth 2 points.
Answer all questions on the scantron sheet with a #2 pencil. There are 14 printed pages in this exam. including
this cover sheet. DO NOT PULL THE EXAM APART OR REMOVE THE STAPLE.

WARNING: NO COMMUNICATION OR CALCULATING DEVICES, OR FORMULA SHEETS ARE
ALLOWED. NO CONSULTATION AND CONVERSATION WITH OTHERS ARE ALLOWED WHILE
YOU ARE TAKING THE EXAM OR IN THE EXAM ROOM. ACADEMIC MISCONDUCT IS A
SERIOUS OFFENSE AND PUNISHABLE TO THE FULLEST EXTENT.

PICK THE BEST ANSWER FOR EACH QUESTION.

How to fill in the scantron sheet and other information:
1. Print your last name, first name, and middle initial in the spaces marked "Last Name." "First Name," and

"MI." Fill in the corresponding bubbles below.

2. Print your student ID number in the space marked "ldentification Number." Fill in the bubbles.

3. Write the number of the discussion section yvou’ve been attending under "Special Codes" spaces
ABC, and fill in the bubbles. The discussion numbers can be found at the bottom of this page.

4. Write the version number of vour exam booklet under "Special Codes" space D, and fill in the bubble.

The version number is at the top of this page.

If there is an error on the exam or you do not understand something, make a note on your exam
booklet and the issue will be addressed AFTER the examination is complete. No questions regarding
the exam can be addressed while the exam is being administered.
When you are finished, please get up quietly and bring your scantron sheet and this exam booklet to
the place indicated by the instructors.
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4 , agree to neither give nor receive any help on this exam

from others. 1 understand that the use of a calculator or communication device on this exam is
academic misconduct. 1 also understand that providing answers to questions on this exam to
other students is academic misconduct, as is taking or receiving answers to questions on this
exam from other students. Thus, I will cover my answers and not expose my answers to other
students. It is important to me to be a person of integrity and that means ALL ANSWERS on this
exam are my answers. Any violation of these guidelines will result in a penalty of at least

receiving a zero on this exam.

Signed
/ v /.S 10D ~g =@ r 7©
¢ ¥ = (;;cp y
Binary Choice (worth 2 points each %j p 3= = S ) = /050
inary ( p ) 0 L — P TAX ﬂﬂ/})ﬂ?ﬂ/’7 70075)
Somée wore/C 1. Suppose that the supply and demand for cigars are initially given by the following equations: ”
7 Demand: P =100 - Q 73 [T T8 B-gogEss 7 7749{/5)6'(‘/3{) )
[HOUCHT Supply: P =Q 52 QT S 0
REQ VIRED Suppose that an excise tax of $30 per cigar is implemented in this market. The governrﬁent then
[HERE realizes that it is not maximizing its revenue from taxing cigars--Should the government increase
or decrease the amount of the excise tax to maximize revenues? T~ TVt 2o
= 1 - 20
(a)The government should increase the amount of the excise tax per unit. 2100 EP ;&ip g
b. The government should decrease the amount of the excise tax per unit. 5;7 :{ 4
12y st0s " = (922 (9) *5°
s 2. Suppose that the CPI, measured in 1990 dollars, increased from 80 to 120 between the year
Ly WG 1985 and the year 1995. Based on this information and holding everything else constant, what do
THE we know about the nominal price and real price of a certain good in 19857 s
= Viear CPIRYIF§0 nem reat
rorvmus? a. The nominal price is higher than the real price. S § 00t 125
T ; 1955 2
The nominal price is lower than the real price.
B /‘i Q5 / -0
V“ubé’" [ weet) JJ”(N)- 255 ¥ mads it
reed = L9 Crog) = + T 5 i

EAS / 3. Suppose that Donald buys 5 oranges and 5 pumpkins under the current market prices. If the
&= price of oranges increases by 10%, then he buys no oranges and 10 pumpkins. Based on this

information, for Donald oranges and pumpkins are .
AL
770 : /4., /yy/h 7 J/M X "/)‘
gbcuthL ‘ﬂu&”%ﬂ"// =
9 . 7 7Y mul Foe
/ Subs éﬁ?ﬁfrm

@ substitutes.

= Y 7
. complements. ﬂ‘”’:f”’



4. True or False: If the average total cost for some firm i Iylis increasing as the level of its output

ERS
/ increases, then its marginal cost is increasing.

® NSNS pare 1 atio

a,/True. 71 v @ffo

[ A7C | o Mm
b. False. (— # & 7
- —
A&

EAT)’  5.1naperfectly competitive market
DEFINIT 10NAL s _
a. The demand curve that any individual firm faces is perfectly elastic and the market

demand is also perfectly elastio
/Each firm makes zero economic profit in the long run

LiriteR 6. The following equation describes the demand for Cranberries, where P is the price per pound
& /f—f/ for cranberries, | is the average income and Q is the quantity in pounds:J_
= G=7-303)r 2ls0)
Q=% -9 +5 =2

oL Q=7-3P+0.5I
Quire
fA7eD)  You are told that average income is $10 and that the price of a pound of cranberries is $3. Given
this information and holding everything else constant, what should producers do to maximize
their total revenue? P"'f am,’:‘l,;m’ d? c 2.3 inCQ
v v o ;_ 2 /7; r"
a. Producers should increase price. 3 f 5
@Producers should decrease price. / Dk oldflj CS’ z f2-3/
} P12~ CP

s

3 Uz “’"rﬁ“})}/’" -5 Q@

7. True or False: If the world price of a certain good is lower than the domestic equilibrium
price, then the domestic consumer surplus under free international trade must be larger than the

very -
M/ domestic consumer surplus without international trade
. Soom-
@True. L
b. False. ‘
Pl d
X Peom
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MOR E 8. Based on the following graph, which of the statements is TRUE?
CHALEN F L

ﬁ Crime in Amenca -
el Rate per 100, go00 pe@pie

 Violent crime T Murder

operty crime, 000

SEriabersibinagla g iy sl ) rhdadadadaataiadd i Q  eellilisadatidds
iQSO a0 EQGG Lo 15 ) L1080 a0 2000 10 15 HENeBg 90 2000 19 15 . ahi
Source: FBI : Eh : PR e Rl e e e

feonemistemme

@jThe percentage change in the rate of property crimes between 2000 and 2015 is the
greatest, while the percentage change in the rate of murders between 2000 and 2015 is the
smallest. o

b. The rate of the total number of crimes per 100,000 declines more than 60% between
1980 and 2015. d@a/%wwﬁéjﬁvfl— > /eSS Prana

Do v ok chiins = [J?f—m ey /(w ') - 22 g752 <0
609
Nor THAT (4) “ﬁ/" Sl
HATD 9. The following table shows Portugal’s trade with Sweden in the late 1700s. All the numbers are SFye
measured in millions of Real (the Portuguese currency at the time). here
g o Conclude(a) 4
=3 1776 155 28 ddvrcafurww
1777 183 55
- Lo (a
- 1783 456 98 /?uf‘mn )
® 1787 270 30 5 iy Jo Aow /}rd)u«:ﬁ
4 _ 1789 382 (, )’
- 1796 673 165 5,4“”0,
i 1797 634 159 )
=
3 1798 302 205 " 5—»3 |
¥ o&’
f 1799 1,496 ar | ooo;; | ?"4"'
1% 1800 1164 s " /"”5"" .

Which of the following is true in this period?
: : X o
a. Portugal’s net imports per year were always growing over the years given in the table.

Portugal’s annual trade surplus (the difference between exports and imports) for the
years provided was negative. v~

Page 4 of 14



(0o N,
: (o< lov ~ T
30 ___,z\n___z'”vjzo L@ = %0
[o : N 5 @ = 156
Multiple Choice (worth 4 points each) ‘ D
[q40 150 200

Use the following information to answer the next two (2) questions:

In the ninja village of Konoha, the supply and demand for ramen are given by the following £ ‘@

equations: 7 7 50 ‘ Tax =50 = ;JC p=o="8
Go :\\- — o= 10L- @
Supply: P =10 | M +Q = % .
Demand: P =100 - 0.5Q O " @ =f° = 4ooo
e = FNW)
P is measured by Japanese yen (¥). and Q is measure by bowls of ramen. 1 : 46 =) fP=5 5P=76(ﬂ@ :
§5z 100 - £Q '
50141 e 10. Hokage . the ruler of Konoha, decides to impose an excise tax on ramen noodles. What is the®= #¢
Wor /< tax amount that maximizes Hokage’s revenue? What is a tax amount that maximizes the dead fd/yMV(‘:‘ y
EIE ight loss (DWL)? ¥,
i weight ﬁg—-WLg__y stanf-wyf thes W/ﬂm —edomnid, () - '—-C?gojb
%5 a. ¥50 per bowl of ramen; ¥0 per bowl of ramen. ?(/:?M o Ries O RWAL _ wa?’uvff‘yc
ﬂ ¥45 per bowl of ramen; ¥100 per bowl of ramer’l)f'«? Ty »7 ¥ (o0 >5 s & O withiov)
% §O c. ¥50 per bowl of ramen; ¥100 per bowl of ramen. =7 x4 /72 530W$,¥Y< ¢
d. ¥45 per bowl of ramen: ¥45 per bowl of ramen.X =) 2 wwt w72 )

dwe e /F7u ) Y100

@rjy JF~ 11. Suppose that Hokage decides on a tax amount of ¥20 per bowl of ramen. What is the tax’s

yg “u economic incidence on consumers, and what is the tax’s economic incidence on producers,
N D~ respectively? / )20 => P30 = PP 1/5‘0]
=4

S77 AP a. ¥(0 on consumers, ¥2808(0n %roducers. 39z /loo- =@
CONCEPT + b. ¥4900 on consumers. ¥1400 on producers. LQ=?o

CAN c. ¥1400 on consumers, ¥1400’%6n producers. o a =/

READ THE 2800 on consurneré,/ ¥0 on producers. Ery = AL v AL

4rH y =
éﬂ’ 7 ol = éa) (/ye)= 28§00
Pr/ =%

12. The initial price for hot chocolate was $2 and Sarah bought 4 cups of hot chocolate per week.
Mor € P o P

: ¢ AlLater the price increased by 50%. The arc elasticity of Sarah’s demand for hot chocolate between
CHA tﬁEse two prices 1s 5/3. Given this information and holding everything else constant, how many

cups of hot chocolate does Sarah buy after the price change? Ly = & Gr ~ @,
a.6cups>( @/)ﬂ):@tlg) 2 3 %'
b. 5 cups / //AA 27 D =D s
(c) 2 cups 7 Pttt

BEN @ g o) o
e 3 4 /|7 |HF
S Plyss QN Detimidtnle) 163 q;l-; =
5 s s

o @) 4CI{‘J > & Page 5 of 14
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Use the following information to answer the next five (5) questions:

Consider a fictional country, Rosa, which produces rose-infused cosmetic products. The
domestic demand and supply for cosmetics are:

Domestic Demand: Qgq= 20 - 2P
Domestic Supply: Qs= 3P

The price is measured in Rosarian Dollars ($).

Previously, its cosmetic market was not open to international trade. Suppose now that Rosa
decides to open its cosmetic market to imports (i.e. free trade), so that people can buy unlimited
quantities of cosmetics from abroad. The world price of cosmetics is $2 per unit.

13. Which of the following statements is WRONG about the interpretation of the labeled areas

EAY -
: . o ‘
s in the following graph? L? S oo o
For. FALSE
/7,@6',7:4'}'154?4/ Price f'j::__—
o/— GLeAL 6
Supply curve
A
7 '
A = World pricef = === ——— o —— - ——— — T —
D . i Demand curve
i [G Quantity

a. Area A is the consumer surplus before free trade is implemented. 7<¢ &
| Area A+B is the consumer surplus after free trade is implemented. X # 7

2/ =3P
Lo =5~
s r()d"h.

c. Area C is the increase in total surplus due to the implementation of free trade. JRVE
d. Area B is the surplus that consumers “capture” from producers after free trade is 777

immplemented.

(Continue on next page)
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Somé  14. Due to complaints from domestic producers, the government of Rosa is considering imposing
weo /¢ A atariff on imported cosmetics that will increase the price of cosmetics in Rosa to $3. What will
be the change in consumer surplus due to the implementation of this tariff?

fP=3 QO - Q0-203) =17

@Consumer surplus will decrease by $15. ®F =3G2)=¢%
b. Consumer surplus will decrease by $49. ,, Impnl = §
c. Consumer surplus will increase by $64 /

d. Consumer surplus will decrease by $8. 3 2SN Pewwiff 2 foeg] = 4 (7)C 797

> (f?’ ,Z(y](/ajffé?*
g 7/ /5
A ;/ 15. Suppose that the government has successfully implemented the tariff from the last que tion.
What is the government’s revenue from this tariff?
@.$5 ?Lciﬂﬁ/w: (3-2)(S5) =¥

b. $7.50

c. 515

d. $14

5}&5}#&/ 16. Alternatively, the government can implement a quota to achieve their goal of increasing
5,45)/ 7 producer surplus by the same percentage as they accomplished with the tariff. What quota level
should the government implement if it wishes to replace the tariff with an import quota that
results in the same impact on domestic producers? The import quota should be:

a. 7 units
b. 3 units
@5 units
d. 2 units

£ «’7 J/= 17. What is the value of the deadweight loss resulting in switching from the more efficient
foreign producers of the good to the less efficient domestic producers of the good when the

) e import quota described in the last question is implemented?
YNDER ~ /o :
StAnD a. $3.00 e s 7

(b)$1.50 /
THE e$0.75 \ 7
CONTEN/ d. $2.50

e Pt
t | \”M-W
g

N\n_\v
{

P /) lewst 15‘@—”7[/”"’/‘%““/‘
= 'é( J-2) (?A*d)
. éC/)(;):#/.S"a
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Use the following information to answer the next three (3) questions:

Jerry has 100 dollars that he can only spend on two goods: cheese curds (X) and churros (Y).
Each cheese curd costs $0.50, and each churro costs $2.

Suppose that the price of one cheese curd increases to $1, and the following graph depicts the
change in Jerry’s optimal bundle due to the price change.

(’,ﬁurmr Y A

® X Chevse Cands

IF &D Lo
EA “‘7 18. Based on the graph above, find the income effect on cheese curds associated with this price
You change.

HAVE TIE a. -20 for cheese curds ,
(ONT & b. 20 for cheese curds //Md""kfﬁ"""' /”“’h/_ ¢ A /"‘“"'L/ ,,Z;sz%,,f
c. 40 for cheese curds ; :
@-40 for cheese curds \J /) o unis 40{“‘”
PRED! CTABLE
19. Assume that the demand curve for cheese curds is a straight line. Which of the following
EA S/H ; equations represents the demand for cheese curds g1ven the above graph? =5
yod Loy /\MMJ é
THE CoNTE w7 ( P =1.5- (1/120)Q‘/ Peart [ \ﬂ\é / (gl— =
b, P = 3.5 - (1/40)Q X ' $p 4 °
c. P=1.75 - (1/80)QX e A’
U«‘ﬁ}(w j d.P=225-(1/16)Q X < o , b eymand
§ 1 — Q) Chteee corde
Lo v
20. Given the new price levels and the above graph, what is the minimum total amount of
NoT
TH A7 income that Jerry needs in order to return to his original utility level before the price change?
3
FArD 5;1122 " What o cortd] Burdle C:

. Ksoo
& //W, =
c. $106 dle ¢ D 100 vmitr) X X o7 ; -
d. $100 il 2.8 vmir 7/ et é}/mz - ﬁ

Tﬁ/iﬂm ﬁ/g‘é
Needed 72 Pa280f14
/3a¢d/¢ C
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Page 9 of 14



Use the following information to answer the next two (2) questions:

Below is a table depicting the relationship between different output levels and the total cost of
producing those output levels for a watch manufacturing company.

Quantity Cost
0 $40 % @=0= Fe=f~C= %o
1 $50 & Jo
ol $62 22
3 $78 3
4 $100 |V 40

Nor HAZ0 21. If this firm produces 4 watches, what is the average variable cost (AVC) at this production
/F y gd  level?

XWow/ Whgn @4, VC =60

=) a. $10 per watch e v . {
Coni 4 $1 5 per watch AV “67' = é— f/S / st
¢. $20 per watch 7
d. $25 per watch
Ead )” 22. What 1s the average fixed cost when the firm makes 2 watches?
$10 per watch FC = #0
0‘520 per watch q = 2
c. $30 per watch —c = Y0 =
d. $40 per watch A== — = % Ao/ v
23. The market for ice cream consists of two consumers, Bella and Joe. Their individual demand
one
i Ve for ice cream are given by the following equations where Q is the quantity of ice cream
THINENG o asured in cups and P is the price for each cup of ice cream measured in dollars. O? @
AND Bella’s demand for ice cream: Q®=12-2P ' ’fﬁi
WorZ/ LEb Joe’s demand for ice cream: Q'=12-4P \,\’
[N oLy %
Vo713 /" For what price range is the market demand for ice-cream elastic? ;—ﬂ
/
Bl Q%212-2F  TJie QJ«IZfo’T B
a P=<$2 Cpg L{ﬂ {3~ CP, \r(g {(
b. $1 <P <$3 ?xﬂ“’l B ’- 3"['-@.1 &/‘V Gv\ Y\r
©@$2<P<86 o [z~ LQ ISt
d.P>36 (,4 ,\,bk A
5 %
¢ l

L TSR qudptof Iowen

N&lk t . D\ME




MNoT 24. The following figure shows the cost information for a representative firm selling baseball
THAT hats in a perfectly competitive market.

HA12D

MC

P * Q

Which of the following statements is TRUE?

a. If market price of the baseball hat is $8, firms are making positive economic proﬁ“fﬁm H=0
b. In the long run, each firm’s production level is greater than 4 baseball hats. X ¢/ t/T =%
If the market price of a baseball hat is currently $10, new firms will enter the arket. 7r¢ € SA<?
d. Firms never produce at a production level lowet than 4 baseball hats because that 775?20
would generate negative economic profit for the firms! /nthe ShOrtresn The

m)//m%u_ /W’(Nllc/ rz 4ve

ToUGH 25. Market research shows that the income elasticity of demand for iPhones is 4, and the price
ONE - elasticity of demand for iPhones is 2. The cross-price elasticity between iPhones and Samsung

ONEOF Notes is 3.

I Per experts’ forecasts, the average income level will increase by 5% this year. The price for an
HAPETT iPhone will increase by 5%, while the price for a Samsung Notes will decrease by 5%. Given thsi
on information and holding everything else constant, what will be the percentage change in the
EXAM  quantity demanded for iPhones this year?

Shertawy /&U/AM 74"
a. Quantity demanded for iPhones will inc‘rease)ﬁay 15%. 4 X
@Quant'ity demanded for .iPhones w_ill f:lecrease by 5%. : ) 7\ L LA e, © 20 %(/MJ
¢. Quantity demanded for iPhones will 111creasé\’by 25%. - g o

d. Quantity demanded for iPhones will decrease by 15%.

) o N duet Ta
é = 7o dd}}} s ?‘ é =[ 7. A@/g/: ? é‘)( Z dc@‘f -3 h) 2 = {10 7;)0&0)
g Do DL oms e D0 A2 4 2 /y /)nu, / ”’W:'/O

Tr0% -
J//O?ﬂ g W)JJ“{}:QC“‘
[52, /;:7 /’Z ~ 5 =3 f’mfpggé‘{l £14
° S5 e T s ) Goo)
=il S
Low Q°Overatt i Sybone. 00 S 20 Lo




Use the following information to answer the next two (2) questions:

In the computer industry, each firm’s cost functions are given by the following equations where
q 1s the quantity produced by the firm:

TC ==g2+32
MC=gq

Assume that the industry is perfectly competitive, and that all firms are identical.
The market demand for computers is P = 80 - Q where P is the price per computer and Q is the
quantity demanded in the market.

can }/Oﬂ( 26. Suppose the computer industry is in short run equilibrium, and there are currently seven
PN firms competing in the market. Given this information and holding everything else constant,
MAKET what 1s the short run equilibrium market price?

SorpL ¥ a. $5 per computer
b) $10 per computer
¢. $15 per computer
d. $20 per computer

Some 21 Suppose the computer industry is operating at its long run equilibrium. How many firms will
fvor2)¢ bein this industry if the industry is in long run equilibrium?

a. 7 firms se E‘;w&fynm :
58 firms D P = §0—Cp

¢.)9 firms P B

d. 10 firms S L pa

§o = —%}:Cp
a)t gﬁ(-’%):?ﬂ
?: é—_(‘?a):/o
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Use the following information to answer the next two (2) questions:

The prices for certain goods from 2007 to 2009 are described in the table below:

Year | Price of one egg | Price of one apple | Price of one melon | Price of one avocado
2007 $0.30 $1.00 $2.00 $1.00
2008 $1.50 $0.50 $4.00 $2.00
2009 $0.50 $1.00 $3.00 $2.00

Suppose that a typical consumer consumes a basket of 10 eggs, 6 apples, 5 melons and 5
avocados. Use the year 2007 as the base year to answer the next two questions.

A Loy oF 28, What is the CPI for the year 2009 when measuring the CPI on a 100 point scale?
WoRK, ) w21 :
Bur NoT @;ggo . %o A n nom Meoma ™ [M Jo°
HA7eD c. 120 o
d. 90 = 2002
Some  29. Suppose that real income grows by 20% from 2007 to 2008, and then by 100% from 2008 to
workk, 2009. What is the percentage increase in/nominal income from 2007 to 2009?
IBVTNIT a. 115% br
[1AreD b. 80%
7 il
c. 360%
(4)260% 120
B
Jear Lort ) Mt fabed e
2502 Cro). )+ CO)# 5(0)+ X)) 7t brlor S =2
sook  (eo)sls COTIr SCOV4 5K TS Stdor o= VP
c S Cr/srr0= Th
sooi (10)(s)+ 6]+ ST+ 5C)
. #27
/ea,w CAPlr3y oo} )/(zw MW ﬂ‘,’“__{_‘.ﬁm
&Y tse)=lo (oo (o
P zr(’é) /0 2007 )1‘20'70
END OF EXAM
2000 /o
deof  aE(#e0)= 00 ) T,
2007 360 LYo
2007 3% Groo) = -:_2.(/00)’/5’0
f =
2- V(,“( %_‘.;_';‘-CSCLL) Page 13((;2%
> 244 o~
asio= ooy 57 2HUW -
/s ‘P

360 e (o a
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